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OLES= 1,500,000 * 404 6,000




= o
A & 0l & AF 2 E A A
2019 &= =0l &k LEEAH SE2 ~ TAHYI =
A ZAITHAED| =
M TAIHAMIE
CHl AT A 2 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S ATHA D] = & 13,147,475 992, 165 12,155,310
Xl 7,099,000
< 1,185,000
Al 4,863,475
SATHEI = 13,096,275 992,165 12,104,110
Xl 7,099,000
< 1,185,000
Al 4,812,275
SAITH A E 824,275 992, 165 A 167,890
= 20,000
Al 804,275
EFTANTHERNAEAH2 Y 758,275 738,165 20,110
307 21201 A 758,275 738,165 20,110
05 RIZt2IEt = 758,275 738,165 20,110
OFFEZANMMEIALEH 29
758,275,000& * 10024 758,275
SANMME=EAY BgII7 29 4,000 4,000 0
201 L2l 4,000 4,000 0
01 At 2t 2l 4,000 4,000 0
OdZIt AEHI 200,000& = 20¢! 4,000
SANMY 52 A 23HAY 40,000 0 40,000
< 20,000
Al 20,000
307 21201 A 40,000 0 40,000
< 20,000
Al 20,000
05 RIZt2lEt = 40,000 0 40,000
OZAMY wg NAA2 23HAS (20HA)
40,000,000& 40,000
< 20,000
Al 20,000
SAMY SEHAY B2 22,000 0 22,000
203 YR =& 2,000 0 2,000
03 Al =AY R =4 2,000 0 2,000
OZATHMII= H2 =& 2,000,000& 2,000
401 Al HI R 201 I 20,000 0 20,000
01 A& HI 20,000 0 20,000
OZATHY =AY 22 24
20,000,000& * 1JH A 20,000
SATH Y2 A St 12,272,000 0 12,272,000
Xl 7,099,000
< 1,165,000
Al 4,008,000




FMN: SAMAEI =

M T AT

SR SATHME S (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SANMNY 2H5HE =8EY 440,000 440,000
401 Al HI K 201 I 440,000 440,000
01 A& Bl 440,000 440,000
OSANHY 53 HE 8 2R
220,000,000& * 20H 4 440,000
HSS 3BRots 2, HME SRl 2, 2L 7,850,000 7,850,000
Xl 4,710,000
< 785,000
Al 2,355,000
201 Let24d] 16,080 16,080
= 1,608
Al 14,472
01 At 22/l 14,040 14,040
OEXJAHH 2FH| 8,040,000& 8,040
< 815
Al 7,225
OSHZFXNAEEH AIRA U=
500,000& = 12& 6,000
< 589
Al 5,411
02 =224l 2,040 2,040
OEXNJHH 2323l 2,040,000 2,040
< 204
Al 1,836
301 e A3 190,768 190,768
= 19,077
Al 171,691
09 BALEHIE &S 10,080 10,080
OSHZXNALH 3l2AH|
210,000& = 43| » 12& 10,080
< 1,008
Al 9,072
12 J|EBtE 4= 180,688 180,688
OENAHH 29 180,688
OFZ20UoH gs+<
363,289& = 12! = 8 » 12& 34,876
= 3,488
Al 31,388
Ogsit =¥
110,463& » 501 » 222 » 12& 145,812
< 14,581
Al 131,231
401 Al HIZ 2 048I 7,643,152 7,643,152
Xl 4,710,000
< 764,315
Al 2,168,837




FMN: SAMAEI =

M T AT

SR SATHME S (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 A& HI 7,633,152 0 7,633,152
OSYds TAMY LAY 7,633,152,000& 7,633,152
Xl 4,704,000
< 763,315
Al 2,165,837
03 A2 2 THHI 10,000 0 10,000
ORYS TAMYE mEAMY AR
10,000, 000& 10,000
Xl 6,000
< 1,000
Al 3,000
JIZES WA Dlehdt SESte 2SS 3,982,000 0 3,982,000
Xl 2,389,000
< 380,000
Al 1,213,000
201 Let24d] 13,680 0 13,680
< 1,306
Al 12,374
01 At 2teltl 11,640 0 11,640
OEXJAHH 2ZH| 5,640,000 5,640
< 534
Al 5,106
OBENAUH AIRA JUE
500,000& = 12& 6,000
= 577
Al 5,423
02 2322l 2,040 0 2,040
OENAUH 3234l
2,040,000 * 1002 2,040
< 195
Al 1,845
301 Lt A= 132,443 0 132,443
< 12,639
Al 119,804
09 HALAHI E& S 10,080 0 10,080
OSZXNNAHEH 312AHI|
210,000& = 43| = 12& 10,080
< 962
Al 9,118
12 JIEtE4 3 122,363 0 122,363
OSTXNAAEEH 29 122,363
O&ZICLUOH gs+¢Y
363,289 x 121 * 8 * 123 34,876
< 3,328
Al 31,548
Ogsht =¢
110,463 * 3021 = 222 « 12& 87,487
< 8,349




FMN: SAMAEI =

M T AT

SR SATHME S (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 79,138
401 A& HIZ 201 I 3,835,877 0 3,835,877
X 2,389,000
= 366,055
Al 1,080,822
01 A& HI 3,825,877 0 3,825,877
ORINEES TATM FLAS
3,825,877,000& 3,825,877
Xl 2,383,000
< 365,055
Al 1,077,822
03 AIE S THHI 10,000 0 10,000
O2EAES TAMY mS2AE AIER20UH]
10,000, 000& 10,000
Xl 6,000
< 1,000
Al 3,000
HY2AZHI (T AITHA D2 ) 51,200 0 51,200
Jl= &l 51,200 0 51,200
Jl=dl 51,200 0 51,200
201 Let249] 13,100 0 13,100
01 At 22l 13,100 0 13,100
OJleges=d &zl 500,000& = 109H 5,000
OJIEZHl(S&Hl)
8,000& = 10Y¥ = 8 » 12& 7,680
O&F=)| ez 35,000 = 1CH = 12& 420
202 oddl 24,000 0 24,000
01 2 oIl 24,000 0 24,000
OJI&Z 200,000& = 10¥ » 12& 24,000
203 YR =&l 2,100 0 2,100
04 FN2ELRZLH| 2,100 0 2,100
©2J|ZF % (102! 0I5tH) 175,000& * 12& 2,100
405 RHoHE S HI 12,000 0 12,000
01 AL EFFHSHI 12,000 0 12,000
O-E=Z=H 1,500,000& = 1CH 1,500
O&E K= AL 5,500,000& =« 1CH 5,500
O=2 A AHIEtD] 1,000,000& = 1CH 1,000
OCIXIEItnlct 500,000& =« 1CH 500
OFSE=p) 400,000&  1CH 400
o« 30| 70,000& = 10CH 700
O&SE DI 300,000& * 1CH 300
o=&1 400,000& = 1CH 400
ogd A 1,000,000& * 1CH 1,000




FMN: SAMAEI =
M HH2IAZH(ZAITHADIIEH)
el JI=23Hl

SA-3H-S(3AH) - MRAS - BES Off &t 24

od&dn 700,000& * 1CH 700

=

i
2m




